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DIRECTIONS
Do not open this bookiet until you are told to do so.

This is a test of your competence in Algebra I. For each of the 10 pro-
blems there are listed 5 possible answers. You are bo work each problem and
determine which is the correct answer, and indicate your choice by making a
heavy black mark in the correct place on the separate answer sheet provided.
A sample follows:

1. If 2x = 3, then x equals: 1 5 3 L 5
15 @3 36
1.
(L) g (5) none of these

i
The eorrect answer for the sample is % , which is answer (l); there-
fore, you should answer this guestion B making a heavy black mark
under space 4 as indicated above.

T# you should change your mind about an answer, be sure tc erase complebely .
Avoid wild guessing, as wrong answers count against you. Do not marlc more than
one answer for any question. Iiske no stray marks of any kind on your answer
sheet.

When toid to do so, open your test bocklet to page 2 and begin. ihen you
have [inished one nage, go on to the next page. The working time for the entire
test is 80 minutes.
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The solution set of the inequality f}c - 3| ﬁ- 2 iz the set of all real

muibers satisiying

In the equation 3x2 +x = 0,

(1) both roots are positive.

(2) one root is positive and the other ig zero.
(3) one root is negative and the other is zero.
(L) Dboth roots are negative.

(5) one root is positive and the other nepative.
The solution set of the equation

2 1 -2

-0 " TmA D T TEL
@ 13, @ {2}, @ L), w o

{(5) the set of all real numbers,

Consider the statement "If 1% rains, then the wind blous." The
contrapositive of This statenent is

(1) "I¥ the wind blows, then it rains.m

(2) :"If the wind does not biow, then it does not rain.!

(3) "If the wind blows, then it does not rain.!

(}4) "If it does not rain, then the wind does not blow."

(5) M“If it rains, then the wind does not blow.!

A boat can travel 38 miles dowmstream in the same time that 1t takes to go

26 miles upstrean. If its rate in still water is 16 miles an hour, what

is the rate of the current?

(1) 2 miles an hour (3) 3 miles an hour (5) L miles an hour

(2) 2% miles an hour () 3 nmiles an hour



Lot U = {1,2,3,1;,5] be the wniversal set. Lot A = {2,3} ané

3= i1 ,3,&} » 1T B, iz the notation usced for the complement of B,

then A W B4 is

(1) fe}. (3) {253 . (5) {2,3,5£ .

2) §3¢. 1 fue,3,ud .

Let » and g be statements. In symbolic language the statement, "P implies g,
is written in the Torm "pwd g and the negation of p is indicated by
s of,  Given that p-dq is a valid implicatlon, which of the following
is also a valld implication?

(1) q-pp (3) qeym P (5) A Qe A D

(2) Avp=pg (L) A~ADP-pAa

Consider the equation a.x2 + bx + ¢ = 0 where a, b, and ¢ are real and

b2

- hae is positive. The roots are always
(1) imaginary.

(2) rational.

(3) natural numbers

(k) real.

(5} negative numbers.

If x is a real nmuwber, |x| is

(1) -x if x&0C. (3) 0 if x)O. (5) always positive.
(2) -=x if =9O0. (L) =x if x0.
@%%)+x=3ﬁ?y@weNHaowﬂhgm@w.wmmomofme
féllowing satisfies this equation?

(1) ofif (3) \rﬁ- (5) none of these

(2) I ) AT



11. If a car travels at a rate of 45 m.p.h., how many miles does it travel
in 45 minutes?
(1) 60 (2) 35 (3) 45 () 50 (5) none of these
12. If x is a non-zero real number and m = 2n, where m and n are positive

S
integers, then %—5 is which of the following?

(1) ™™ (2) xhn (3) 1 (LY © (5} nome of these

13. 7% of what nurber is 75%
(1) 5.625 (2) 56,25 (3) 10 (L) 100 (5) 1000

2
1he  Simplify LS 2 20 x .
et -1 ' (7 +r)
(1) =
2R - )

(2) Q(Rr~ )

1

G ==
() 21
2TMR° - 1

. 1
(5) 29r (3 - 1)

15. There are 100 people in a room. If each person shakes hands with every
other person exactly one time, how many hand shakes occur?
(1) 10,000 (3) 999 (5) none of these
(2) L,950 (W) Lyk50

16. The inequality ——%— > —-g-— , where p,q,r, and 5 are positive integers, implies
which of the foilot'ling?
(1) p»r (3) ps&ar (5) none of these

(2) as (L) ps»par
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18.

19

20,

21,

The simplest form of \J{ 16) \r“")
(1) 32. (2) -32. (3) 8. (L) o. (5) none of these.

The solution set of = 1 is
(1) {xlx)‘i}.

(2) fx}oexer} .
OREIFTSE

() §x|=po}.

(5) {=|=¢0}-

The domain of the relation {(x,y)l = %%+ 2} is the set {-1,0,1,2}.
The range of the same relation is

@ {2, 0,9, @6].

(2) fo,2,3,6].

3§, ©2), 0,3, 2.6].

@ §2,3,63.

(5) none of these.

A0, 3) and B(1,5) are two points in the coordinate plane. The slope of

the line that contains A and B is

(1) % . (2) 8. (3) 2. (1) % . (5) none of these.

An equation of a cirecle with the center at (1,2) and a radius of 3 is
(1) 22 +3° =0

(2) (x1)% + (v -2)% = 3.

(3) G+ 1)+ (7 +2)
W x-1%+(y-2)°
(5) none of these.

il

9.
9.
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A factorization of %~ - 8 is

(1) (x - 2) (x° - 2x + L),

2) (x° -2x + ).

£

(2) (x

(3) (x-2) (x° + 2%+ ).

W) (x - 2) (=% + bz + ).

(5) none of these.

. 2 -
The equation x3 + X"+ 2x + 1 =0 has a real root betieen

(1) 0 and %, ‘(3) 2 and 3. (5) =1 and 0.
(2) % and 1. (h) 3 and L.

R

LI the arca of Tthe interior of an equilateral triangle is
B

units, what is bhe height of the triangle?

(1) \[ET. wlits
(2) E— untits

(3) E- s
(L) J6 units

(5) none of these

Solve x + 2\’;; 2 <1 =0 for x.
(1) - (2) + (3) 7 () -7
(5) o solution is possible 1f % ig a real nuwibers

Find the solution 7

X o~y =l

(1) =z=2, y=2
(8) x= =2, y= -2
(3) both the solutions in (1) and {2)

() == G, 7v=20

(5) ‘These equations have no solution.

or the #iven systom of simultanceous equations.
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Solve x + Q- = 3 -7 for x.

x x

2
(2) ©
(3 TTINW

2

() 1
(5) none of these
The curves y = . and x2 + (y - 1)2 = 1 intersect in how many distinet
points?

(1) © (2) 1 (3) 2

by 3

(

5

)

1













